2018 TOTAL DISPOSITIONS BY SPECIES

Legend

R Released T Transferred P Pending E Euthanized D Died DOA Dead on Arrival

Survival Rate Including First 24 Hours

(Pending + Released + Transferred) / (Total cases - Dead on arrival)

Survival Rate After First 24 Hours

(Pending + Released + Transferred) / (Total cases - Dead on arrival - Died in 24hr - Euthanized in 24hr)

Amphibians

Common Name	т	Total	R	т	Р	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Tot	als 0	C	0 (0%%)	-	0 (0%%)	-	0 (0%%)		0 (0%%)	0 (0%%)	0%	0%

Birds

Common Name	Total	R	т	Ρ	Е	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
American Coot	7	2 (28.57%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	2 (28.57%)	3 (42.86%)	50%	50%
American Kestrel	12	8 (66.67%)	0 (0%)	0 (0%)	3 (25%)	0 (0%)	1 (8.33%)	0 (0%)	0 (0%)	66.67%	100%
American White Pelican	15	15 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
American Wigeon	1	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Barn Swallow	3	0 (0%)	0 (0%)	0 (0%)	2 (66.67%)	0 (0%)	0 (0%)	1 (33.33%)	0 (0%)	0%	0%
Black Crowned Night Heron	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0%	0%

Common Name	Total	R	т	Р	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Black- chinned Hummingbird	2	1 (50%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (50%)	0 (0%)	50%	50%
Blue-winged Teal	3	1 (33.33%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	2 (66.67%)	100%	100%
Brown Booby	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0%	0%
Burrowing Owl	1	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Cactus Wren	6	1 (16.67%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	5 (83.33%)	0 (0%)	16.67%	16.67%
Cave Swallow	1	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0%	0%
Clark's Grebe	3	3 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Common Barn-owl	25	10 (40%)	0 (0%)	0 (0%)	8 (32%)	1 (4%)	4 (16%)	2 (8%)	0 (0%)	40%	76.92%
Common Loon	2	2 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Common Merganser	2	2 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Common Nighthawk	3	1 (33.33%)	0 (0%)	0 (0%)	1 (33.33%)	0 (0%)	0 (0%)	1 (33.33%)	0 (0%)	33.33%	50%
Cooper's Hawk	4	2 (50%)	0 (0%)	0 (0%)	1 (25%)	1 (25%)	0 (0%)	0 (0%)	0 (0%)	50%	66.67%
Curve-billed Thrasher	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0%	0%
Domestic Duck	10	10 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Double- crested Cormorant	10	10 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Eurasian Collared- dove	16	6 (37.5%)	0 (0%)	0 (0%)	1 (6.25%)	2 (12.5%)	4 (25%)	2 (12.5%)	1 (6.25%)	40%	60%
European Starling	4	2 (50%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (25%)	1 (25%)	0 (0%)	50%	66.67%

Common Name	Total	R	т	Ρ	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Ferruginous Hawk	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0%	0%
Golden Eagle	1	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Great Horned Owl	21	14 (66.67%)	0 (0%)	0 (0%)	4 (19.05%)	2 (9.52%)	1 (4.76%)	0 (0%)	0 (0%)	66.67%	87.5%
Great-tailed Grackle	12	3 (25%)	0 (0%)	0 (0%)	1 (8.33%)	0 (0%)	2 (16.67%)	4 (33.33%)	2 (16.67%)	30%	42.86%
Greater Roadrunner	5	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (20%)	4 (80%)	0 (0%)	0%	0%
Green Heron	1	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Green- winged Teal	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0%	0%
Harris's Hawk	3	1 (33.33%)	1 (33.33%)	0 (0%)	1 (33.33%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	66.67%	100%
House Finch	13	7 (53.85%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (7.69%)	5 (38.46%)	0 (0%)	53.85%	58.33%
House Sparrow	24	4 (16.67%)	0 (0%)	0 (0%)	1 (4.17%)	1 (4.17%)	9 (37.5%)	9 (37.5%)	0 (0%)	16.67%	28.57%
Inca Dove	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0%	0%
Killdeer	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0%	0%
Ladder- backed Woodpecker	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0%	0%
Least Sandpiper	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0%	0%
Lesser Nighthawk	1	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0%	0%
Lesser Scaup	23	23 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Long-billed Curlew	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0%	0%

Kite (57.14%) (0%) (21.43%) (14.29%) (0%) (7.14%) (0%) 7.14% (0%) Mourning Dove 17 10 (58.2%) 21.76% (1.76%) (58.8%) 0%) 21.176% (0%) 21.176% (0%) 21.176% (0%) 21.176% (0%) 21.176% (0%) 21.176% (0%) 21.176% (0%) 21.176% (0%) (0%) 21.176% (0%) 21.176% (0%) <th>Common Name</th> <th>Total</th> <th>R</th> <th>т</th> <th>Ρ</th> <th>Е</th> <th>E +24hr</th> <th>D</th> <th>D +24hr</th> <th>DOA</th> <th>Survival Rate Including</th> <th>Survival Rate After</th>	Common Name	Total	R	т	Ρ	Е	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Dove (58.82%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (11.76%) (0%) (14									78.57%	91.67%
Mockingbird (0%)	-	17					-				70.59%	80%
Shoveler (92.86%) (0%) (0%) (0%) (7.14%) (0%) (0%) (0%) (1 Pied-billed 3 1 (3.3.33%) (0%) (0%) 1 (3.3.33%) (0%) (0%) 1 (3.3.33%) (0%) (0%) 1 (0%) <td></td> <td>2</td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td>0%</td> <td>0%</td>		2					-				0%	0%
Grebe (33.33%) (0%) (0%) (33.33%) (0%)		14									92.86%	100%
Jaeger (0%) <		3	-			•		-			33.33%	100%
Falcon (0%) <		1					-				0%	0%
1 0%)		1				-	-			-	0%	0%
breasted Merganser (0%) (0%) (0%) (0%) (100%) (0%)<	Pyrrhuloxia	1					-	-			0%	0%
Hawk (18.18%) (0%) (9.09%) (40.91%) (4.55%) (9.09%)	breasted	1					-	-			0%	0%
intercent (50%) (0%) (0%) (11.11%) (5.56%) (22.22%) (5.56%) (5.56%) (5.56%) (5.56%) (5.56%) (5.56%) 0%		22									30%	66.67%
crowned Kinglet (0%) (0%) (0%) (0%) (0%) (0%) (0%) (100%) (100%) Ruddy Duck 12 8 0 0 0 0 3 0 1 72.73% 100% Sandhill 1 0 0 1 0 0 0 0 0 0 0 0 100% <td>Rock Dove</td> <td>18</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>52.94%</td> <td>81.82%</td>	Rock Dove	18									52.94%	81.82%
(66.67%) $(0%)$ $(0%)$ $(0%)$ $(0%)$ $(0%)$ $(25%)$ $(0%)$ $(8.33%)$ Sandhill 1 0 0 1 0 0 0 0 0 0 100% 100% Sharp-shinned 3 1 1 0	crowned	1									0%	0%
Crane (0%) (0%) (100%) (0%)	Ruddy Duck	12									72.73%	100%
shinned Hawk (33.33%) (33.33%) (0%) (0%) (0%) (33.33%) (0%) (0%) Snow Goose 1 0 0 0 0 0 0 0 0 0%) 0% 0%		1			-						100%	100%
(0%) (0%) (0%) (0%) (0%) (0%) (0%) (100%)	shinned	3									66.67%	100%
Swainson's 10 0 0 0 0 4 3 2 1 0 0%	Snow Goose	1									0%	0%
Hawk (0%) (0%) (0%) (40%) (30%) (20%) (10%) (0%)		10									0%	0%

Common Name	Total	R	т	Ρ	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Turkey Vulture	2	1 (50%)	0 (0%)	0 (0%)	0 (0%)	1 (50%)	0 (0%)	0 (0%)	0 (0%)	50%	50%
Unidentified Bird	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0%	0%
Western Grebe	5	5 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Western Kingbird	7	1 (14.29%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	5 (71.43%)	1 (14.29%)	16.67%	16.67%
White- winged Dove	35	12 (34.29%)	4 (11.43%)	1 (2.86%)	2 (5.71%)	0 (0%)	7 (20%)	9 (25.71%)	0 (0%)	48.57%	65.38%
Yellow- crowned Night Heron	1	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Totals	417	204 (48.92%)	8 (1.92%)	9 (2.16%)	47 (11.27%)	17 (4.08%)	50 (11.99%)	64 (15.35%)	18 (4.32%)	55.39%	73.18%

Mammals

Common Name	Total	R	т	Ρ	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Black-tailed Jackrabbit	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0%	0%
Black-tailed Prairie Dog	1	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Bobcat	6	3 (50%)	1 (16.67%)	1 (16.67%)	0 (0%)	0 (0%)	0 (0%)	1 (16.67%)	0 (0%)	83.33%	83.33%
Brazilian Free-tailed Bat	6	5 (83.33%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (16.67%)	0 (0%)	0 (0%)	83.33%	100%
Collared Peccary	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0%	0%
Desert Cottontail	42	14 (33.33%)	0 (0%)	0 (0%)	1 (2.38%)	0 (0%)	6 (14.29%)	20 (47.62%)	1 (2.38%)	34.15%	41.18%

Common Name	Total	R	т	Р	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Desert Kangaroo Rat	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0%	0%
Fox Squirrel	25	10 (40%)	0 (0%)	0 (0%)	1 (4%)	1 (4%)	4 (16%)	9 (36%)	0 (0%)	40%	50%
Gray Fox	1	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0%	0%
Mule Deer	17	10 (58.82%)	0 (0%)	0 (0%)	1 (5.88%)	1 (5.88%)	0 (0%)	5 (29.41%)	0 (0%)	58.82%	62.5%
Pallid Bat	3	2 (66.67%)	1 (33.33%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	100%	100%
Pronghorn	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0%	0%
Raccoon	2	0 (0%)	0 (0%)	0 (0%)	2 (100%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0%	0%
White-tailed Deer	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0%	0%
Totals	108	45 (41.67%)	2 (1.85%)	1 (0.93%)	6 (5.56%)	3 (2.78%)	12 (11.11%)	38 (35.19%)	1 (0.93%)	44.86%	53.93%

Reptiles

Common Name		Total	R	т	Ρ	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Bullsnake		1	1 (100%)	0 (0%)	100%	100%						
Ornate Box Turtle		1	1 (100%)	0 (0%)	100%	100%						
Red-eared Slider		2	1 (50%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (50%)	100%	100%
	Totals	4	3 (75%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (25%)	100%	100%

Unidentified

Common Name		Total	R	т	Ρ	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Survival Rate After
Cave Bat		1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0%	0%
	Totals	1	0 (0%)	0 (0%)	0 (0%)	0 (0%)	1 (100%)	0 (0%)	0 (0%)	0 (0%)	0%	0%

Grand Totals

	Total	R	т	Ρ	E	E +24hr	D	D +24hr	DOA	Survival Rate Including	Rate
Totals	530		10 (1.89%)		53 (10%)		62 (11.7%)	102 (19.25%)	20 (3.77%)	53.33%	68.86%